§8.3 - Trigonometric Integrals
We'll begin by looking at integrals of the form
$$\int sin^m x cos^n x dx$$

where m and n are non-negative integers.

Warm
$$up$$
: $\int sin^m x \cos x \, dx$
Sub $u = sin x$, $du = \cos x \, dx$ to get $\int u^m \, du$
(Easy!)

What about
$$\int \sin^m x \cos^3 x \, dx$$
?

Again, sub u=sinx, du=cosxdx to get

$$\int u^{m} \cos^{2} x \cdot \cos x \, dx = \int u^{m} (1 - \sin^{2} x) \, du$$
$$= \int u^{m} (1 - u^{2}) \, du \quad (Easy!)$$

This strategy will work whenever n is odd! If instead m is odd, we'll set u = cosx.

Strategy for Evaluating
$$\int \sin^{m} x \cos^{n} x \, dx$$

(i) If m is odd, let $u = \cos x$. If both are
odd, let u be
the function with
(ii) If n is odd, let $u = \sin x$. the higher power!
(iii) If m § n are even, use the identities
 $\sin^{2} x = \frac{1}{2} (1 - \cos 2x), \quad \cos^{2} x = \frac{1}{2} (1 + \cos 2x).$

$$\underbrace{E_{X:}}_{Sin X} (a) \int Sin^{3} X \cdot \cos^{8} X \, dx$$

$$\underbrace{Solution:}_{m odd} \Rightarrow u = \cos X, \, du = -\sin X \, dx, \, giving$$

$$\int Sin^{2} X \cdot u^{8} \cdot \frac{\sin X \, dx}{=-du} = -\int (1 - \cos^{2} X) \cdot u^{8} \, du$$

$$= -\int (1 - u^{2}) u^{8} \, du$$

$$= \int (u'' - u^8) du$$

= $\frac{u''}{1!} - \frac{u^9}{9} + C$
= $\frac{\cos''x}{1!} - \frac{\cos^9x}{9} + C$

(b)
$$\int \sin^{15} x \cdot \cos^{5} x \, dx$$

Solution: Both powers are odd, but $\sin x$ has the
bigger power. Let $u = \sin x$, $du = \cos x \, dx$, giving
 $\int u^{15} \cos^{4} x \cdot \cos x \, dx = \int u^{15} (1 - u^{5})^{2} \, du$
= $\int u^{15} (1 - 2u^{2} + u^{4}) \, du$
If instead we
used $u = \cos x$, we
would need to
 $expand (1 - u^{5})^{7} \dots Ew$.

$$= \frac{\mathcal{U}^{16}}{16} - \frac{2\mathcal{U}^{18}}{18} + \frac{\mathcal{U}^{20}}{20} + C$$

$$= \frac{\sin^{16} x}{16} - \frac{\sin^{18} x}{9} + \frac{\sin^{18} x}{20} + C$$
(c) $\int \sin^{2} x \cos^{2} x \, dx$

(c) $\int \sin^{2} x \cos^{2} x \, dx$

Solution: Both powers are even, so use the double angle identities.

 $\int \sin^{6} x \cos^{2} x \, dx = \int \frac{1}{2} (1 - \cos 2x) \cdot \frac{1}{2} (1 + \cos 2x) \, dx$

 $= \frac{1}{4} \int (1 - \cos^{2}(2x)) \, dx$

 $= \frac{1}{4} \int (1 - \frac{1}{2} (1 + \cos 4x)) \, dx$

 $= \frac{1}{4} \int (\frac{1}{2} - \frac{\cos 4x}{2}) \, dx$

 $= \frac{1}{8} \int (1 - \cos 4x) \, dx$

 $= \frac{1}{8} \int (1 - \cos 4x) \, dx$

 $= \frac{1}{8} \int (1 - \cos 4x) \, dx$

 $= \frac{1}{8} \int (x - \frac{\sin 4x}{4}) + C$

Let's now look at integrals of the form

$$\int tan^m x \cdot sec^n x dx$$

where again, m and n are non-negative integers.

Strategy for Evaluating
$$\int \tan^m x \sec^n x \, dx$$

(i) If n is even, let $u = \tan x$
and use $\sec^2 x = \tan^2 x + 1$.
(ii) If m is odd, let $u = \sec x$
and use $\tan^2 x = \sec^2 x - 1$.

$$\underline{E_{x}}$$
 $\int tan^{3}x \sec^{7}x dx$

<u>Solution</u>: m is odd, so let u = secx. We have du = secxtanxdx, hence

$$\int \tan^3 x \sec^7 x \, dx = \int \tan^2 x \sec^6 x \cdot \frac{\sec^4 x \, dx}{du}$$

$$= \int (\sec^{2} \times -1) \mathcal{U}^{6} d\mathcal{U}$$

$$= \int (\mathcal{U}^{2} - 1) \mathcal{U}^{6} d\mathcal{U}$$

$$= \int (\mathcal{U}^{8} - \mathcal{U}^{6}) d\mathcal{U}$$

$$= \frac{\mathcal{U}^{9}}{9} - \frac{\mathcal{U}^{7}}{7} + C = \frac{\sec^{9} \times -\frac{\sec^{7} \times +C}{7}}{9} - \frac{\sec^{7} \times +C}{7}$$
Ex: $\int \tan^{4} x \sec^{4} x dx$
Solution: n is even, so let $\mathcal{U} = \tan x$, $d\mathcal{U} = \sec^{2} \times dx$.

We have

$$\int \tan^{4} x \sec^{4} x \, dx = \int \tan^{4} x \sec^{2} x \cdot \underbrace{\sec^{2} x \, dx}_{du}$$
$$= \int u^{4} (\tan^{2} x + 1) \, du$$
$$= \int u^{4} (u^{2} + 1) \, du$$
$$= \int (u^{6} + u^{4}) \, du$$

$$= \frac{2t^{7}}{7} + \frac{2t^{5}}{5} + C = \frac{\tan^{7}x}{7} + \frac{\tan^{5}x}{5} + C$$

What about cases like
$$\int tan^2 x \operatorname{sec} x \, dx$$
 where m is even and n is odd?

Step 1: Use
$$\tan^2 x = \sec^2 x - 1$$
 to get only powers
of secx:
 $\int \tan^2 x \sec x \, dx = \int (\sec^2 x - 1) \cdot \sec x \, dx = \int (\sec^3 x - \sec x) \, dx$

sec x dx = ln |sec x + tan x| + C

$$\int \sec^2 x \, dx = \tan x + C$$

$$\int \sec^n x \, dx = \frac{1}{n-1} \sec^{n-2} x \tan x + \frac{n-2}{n-1} \int \sec^{n-2} x \, dx$$

Example using the Reduction Formula:

$$\int \sec^{4} x \, dx = \frac{1}{3} \sec^{2} x \tan x + \frac{2}{3} \int \sec^{2} x \, dx$$
$$= \frac{1}{3} \sec^{2} x \tan x + \frac{2}{3} \tan x + C$$

$$\frac{E_{x}}{\int \tan^{2} x \sec x \, dx}$$

$$\frac{Solution}{\int \tan^{2} x \sec x \, dx} = \int (\sec^{3} x - \sec x) \, dx$$

$$= \int \sec^{3} x \, dx - \int \sec x \, dx$$

$$= \left[\frac{1}{2} \sec x + \tan x + \frac{1}{2} \int \sec x \, dx\right] - \int \sec x \, dx$$

$$\int \operatorname{Reduction} formula!$$

$$= \frac{1}{2} \operatorname{Secx} \tan x - \frac{1}{2} \int \sec x \, dx$$

$$= \frac{1}{2} \sec x + \tan x - \frac{1}{2} \ln \left| \sec x + \tan x \right| + C$$

Appendix: Proof of the Reduction Formula

$\mathcal{U} = Sec^{N-2} \times$	V=tanx
du = (n-2) sec ⁿ⁻³ x · secx tanx dx	dv = sec²x dx
= $(n-2) \sec^{n-2} x \tan x dx$	

$$\int \operatorname{Sec}^{n} x \, dx = \operatorname{Sec}^{n-2} x \, \tan x - \int (n-2) \operatorname{Sec}^{n-2} x \, \tan^{2} x \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x - (n-2) \int \operatorname{Sec}^{n-2} x \, \left(\operatorname{Sec}^{n} x - 1 \right) \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x - (n-2) \int \operatorname{Sec}^{n-2} x \, dx + (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x - (n-2) \int \operatorname{Sec}^{n} x \, dx + (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x - (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x + (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$

$$\Rightarrow (n-1) \int \operatorname{Sec}^{n} x \, dx = \operatorname{Sec}^{n-2} x \, \tan x + (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x + (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$

$$= \operatorname{Sec}^{n-2} x \, \tan x + (n-2) \int \operatorname{Sec}^{n-2} x \, dx$$